
.idw

GAMEING B24-BIU/140

H

W

D

H -

W -

D -

752 mm

1380 mm

680 mm



P28-B24-BIU_140-M_IN25-A-KOR02-TSZT01.idw.idw

?

?

0-5

A

B

A=B

§

2

§2

§1

§3

§4

§5

Ogólne zasady montażu mebla

1

§

§9

§8

§7

§6

Ogólne zasady montażu mebla

Ogólne zasady montażu mebla

Ogólne zasady montażu mebla

Ogólne zasady montażu mebla

Ogólne zasady montażu mebla

Ogólne zasady montażu mebla

Ogólne zasady montażu mebla

§9

§7

§8

Ogólne zasady montażu mebla

Ogólne zasady montażu mebla

Ogólne zasady montażu mebla

Ogólne zasady montażu mebla



P28-B24-BIU_140-M_IN25-A-KOR02-TSZT01.idw

3 /5 

.idw

§1

0 1 2 3 4 5 6 7 8 9 10
cm

B24-BIU/140              GAMEING
A C (mm)B D

A

D

2/3, 3/3

1/3226801380B24-20011

20 min

1

8x

Ø6,3x16 mm

18x

Ø4x20 mm

 

1x

4 mm

40kg
Max

2x

k151\1

Noga metal 

h=730/740 czarny 
mat 

4x

k151\2

Stopka plastik/metal 

wkręcana z gwintem 
M10x15 czarny R&S

1x

k151\3

Poprzeczka - reling 

metal L-1069 czarny 
mat

4x

M6x20 mm j133



P28-B24-BIU_140-M_IN25-A-KOR02-TSZT01.idw

4 /5 

.idw

B24-BIU/140              GAMEING

1

k151\1

k151\3

k151\1

k151\2

k151\2

j133

j133

§2

2x

k151\1

Noga metal 

h=730/740 czarny 

mat 

4x

k151\2

Stopka plastik/metal 

wkręcana z gwintem 

M10x15 czarny R&S

1x

k151\3

Poprzeczka - reling 

metal L-1069 czarny 

mat

4x

M6x20 mm j133



P28-B24-BIU_140-M_IN25-A-KOR02-TSZT01.idw

5 /5 

.idw

B24-BIU/140              GAMEING

2

p39

p39

e7
p39

p39

e7
p39

p39
e7

p39

e7 p39

1

§6

8x

Ø6,3x16 mm

18x

Ø4x20 mm

 

1x

4 mm


